
Mark / 12 %

1) Work out     53 ÷ 2     by short division.

      Give your answer as a decimal.

          

[1]

2) Work out     86 ÷ 5     by short division.

      Give your answer as a decimal.

          

[1]

3) Work out     43 ÷ 4     by short division.

      Give your answer as a decimal.

          

[1]

4) Work out     58 ÷ 4     by short division.

      Give your answer as a decimal.

          

[1]

5) Work out     90 ÷ 7     by short division.

      Give your answer as a decimal with 2 decimal places.

          

[1]
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6) Work out     99 ÷ 7     by short division.

      Give your answer as a decimal with 2 decimal places.

          

[1]

7) Work out     388 ÷ 7     by short division.

      Give your answer as a decimal with no more than 2 decimal places.

          

[1]

8) Work out     396 ÷ 8     by short division.

      Give your answer as a decimal with no more than 2 decimal places.

          

[1]

9) Work out     47 ÷ 16     by short division.

      Give your answer as a decimal with no more than 2 decimal places.

          

[1]

10) Work out     32 ÷ 14     by short division.

      Give your answer as a decimal with no more than 2 decimal places.

          

[1]

11) Work out     1439 ÷ 24     by short division.

      Give your answer as a decimal with 2 decimal places.

          

[1]
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12) Work out     1949 ÷ 23     by short division.

      Give your answer as a decimal with 2 decimal places.

          

[1]
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Solutions for the assessment Formal division

1) 26.5 2) 17.2

3) 10.75 4) 14.5

5) 12.86 6) 14.14

7) 55.43 8) 49.5

9) 2.94 10) 2.29

11) 59.96 12) 84.74
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